20235 E (RFSEE) TEFER
A H e 7= Z Dt
4 4 Koo AR FULYT—vav
5 7K A - @ 2= - T8 - REHM
14 & th 1 RHAFHE (~158) FRED
15 + ED=EE ENEE (Flak)
29 + PTA#E - LEEOEZE
5 1 A #wR (~7H) F1FHATEER
11 X |ERBORE AL R A
16 X EZ-H—JLnH
6 & TRORE ENEE
+ AL &R R
23 & FEPTA (~24R) 95RATYF
7 18 X F2 - B1EFAEE (~20H) BIFHHERER
20 PN frER HWXPTA
RS HME
8 21 A FRTIRE (h3E, ~261) RhEE
28 A hER HWXPTA
9 12 X HKAR (=R
13 7K N R
17 = (NS EREERES
18 A WEDH
21 PN BREDRE
23 + Mol
10 9 A ZR—YDH E2FHATHER
28 + BRORE ® - TEsME
29 = ARGAE (ZRBDEZE) 1EF AT (F3)
30 A (RWZN
31 X P NHOESES
11 N fhozE (Bred3) EhEE
% X{t»H 95 RATYF
23 PN REDIRZE B (@m2UT)
24 & |FEPTA (&2UT. ~258)
26 H T RTANZRT y kN —
27 A KR (B@HmZEEOH)
29 7K YE B IR
12 1 % BROEE F2FHERER
11 A PEPTA (B30H&, ~13H) EnglishChallenge (4 %)
15 % TRORE AR
16 + HE—RRT (@2UT) AFFEE ST
21 x| ERBRORE
22 % Y RTR - IRESR
1 = thER (LROFE)
A A DB
26 & |k /7
27 + 7 - Y —ILhF AR
28 = 7 - Y=L ERAFRE
30 X (RWZN
2 1 PN AREDEE FEIFHATEER
10 + EREEFER (FFEEMRB) fFrmAes (FF)
11 H EEZE0H (/7A=Y TF)
12 A RERE
23 & REFAEH
3 15 = AR FERER
16 + RS - iR EER ERESRESE




